

Let $A = g + 2d_1x_1^*$, $B = \lambda_1 + 2D_1x_2^*$, $C = \lambda_2 + 2D_2y_2^*$, then $A, B, C > 0$ and

$|\lambda I - J(E)| = \lambda^3 + (A + B + C)\lambda^2 - \lambda^1\lambda^2A - gbC + [AB + BC + AC - (\lambda_1\lambda_2 + gb)]\lambda + ABC$
Noticing $BC > \lambda_1\lambda_2$, then it leads to

$$\begin{aligned} & (A + B + C)[AB + BC + AC - (\lambda_1\lambda_2 + gb)] \\ & - (ABC - \lambda_1\lambda_2A - gbC) \\ & = 2ABC + \lambda_1\lambda_2A + gbC - \lambda_1\lambda_2(A + B + C) - gb(A \\ & + B + C) + A^2(B + C) + B^2(A + C) + C^2(A + B) \\ & = 2ABC + BC(BC - \lambda_1\lambda_2) + C(BC - \lambda_1\lambda_2) + A^2(B \\ & + C) + B^2A + AC^2 - gb(A + B) \\ & > ABC + (ABC + A^2B + A^2C + A^2B) - gb(A + \\ & B) + AC^2 > (A + B)[A(B + C) - gb] > (A + \\ & B)(g\lambda_1 + g\lambda_2 - gb) = g(A + B)(\lambda_1 + \lambda_2 - b) > 0. \end{aligned}$$

Therefore, by Routh-Hurwitz Theorem, the characteristic roots of $J(E)$ have negative real parts, then there exists a constant $c > 0$ such that all the real parts of characteristic roots are smaller than $-c$. Thus, from reference [6], Theorem 1, system (1) is asymptotically stable on E . Such completes the proof.

We can also get the following Theorem

Theorem 3 Assume (H) holds, then the point $(0, 0, 0)$ is the unstable equilibrium of system (1).

Proof By system (1), the Jacobian matrix on $(0, 0, 0)$ is

$$J(0) = \begin{pmatrix} -g & b & 0 \\ g & -\lambda_1 & \lambda_1 \\ 0 & \lambda_2 & -\lambda_2 \end{pmatrix}.$$

Then its characteristic multinomial of $J(0)$ is

$$F(\lambda) = |\lambda I - J(0)| = (\lambda + g)[(\lambda + \lambda_1)(\lambda +$$

$$\lambda_2) - \lambda_1\lambda_2] - bg(\lambda + \lambda_2) = \lambda^3 + (g + \lambda_1 + \lambda_2)\lambda^2 + [g(\lambda_1 + \lambda_2) - gb]\lambda - gb\lambda_2.$$

Since $F(0) = -gb\lambda_2 < 0$, $F(+\infty) = +\infty$, there must exist a constant $\lambda^* > 0$ such that $F(\lambda^*) = 0$. Therefore from reference [6], $(0, 0, 0)$ is the unstable equilibrium of the system. Thus completes the proof.

Acknowledgement

The authors thank research fellow Chen Lansun, Institute of Mathematics, Academic Sinica, for his warmly helps.

References

- 1 Lansun Chen. Mathematical ecological model and research method, Beijing Science Press, 1988.
- 2 Freedman H I, Rai Bindh Gachal, Waltman Paul. Mathematical models of population, interactions with dispersal II: differential survival in a change of habitat. J Math and Appl, 1986, 115: 140~154.
- 3 Walter G, Aicelo, Freedman H I. A time-delay model of single-species growth with stage structure. Mathematical Biosciences, 1990, 101: 139~153.
- 4 Aiello Walter G, Freedman H I, Wu J. Analysis of a model representing stage-structured population growth with state-dependent time delay, SIAM J Appl Math, 1992, (3): 855~869.
- 5 Wang Wengdi, Chen Lansun. A predator-prey system with stage-structure for predator, Computers Math Applic, 1997, 8: 83~91.
- 6 Zhang Jingyan. The geometric theory and bifurcation problems of ordinary differential equations. Beijing Beijing University Press, 1981. 166, 169.

(责任编辑: 蒋汉明)

一类变系数 KdV 型方程的孤立波解

谷元 蒋志方 谷艺

下列变系数 KdV 型方程描述了一个水深变化的浅水河道中的突变现象^[1]

$$u_t + T(t)uu_x + U(t)u_{xxx} = 0, \quad (1)$$

其中 $T(t)$ 和 $U(t)$ 都为可微函数. 在本文中, 我们构造 (1) 的如下形式的解

$$u(t, x) = B(t) + A(t)F(s) - A(t)F(s)^2, \quad (2)$$

其中 $F(s) = 1/(1 + \exp s)$, $s(t, x)$, $B(t)$ 和 $A(t)$ 为待定函数, 并且 $s_{xx} = 0$. 把 (2) 代入 (1), 比较 F^j 的系数, 我们可以得到:

$$F^3: 2A^2s_x T - 24As_x^3U = 0, \quad (3)$$

$$F^4: 60As_x^3U - 5A^2s_x T = 0, \quad (4)$$

$$F^3: -50As_x^3U + (4A^2 - 2BA)s_x T - 2As_t = 0, \quad (5)$$

$$F^2: 15As_x^3U - (A^2 - 3BA)s_x T + 3As_t - A_t = 0, \quad (6)$$

$$F^1: As_x^3U + BA s_x T + As_t - A_t = 0, \quad (7)$$

$$F^0: B_t = 0. \quad (8)$$

由式 (3) ~ (8) 我们得到 B 为一个任意常数, 并且

$$A = 12 \frac{U(t)}{T(t)} s_x^2, A_t = 0, s_t = -U s_x^3 - B T s_x, \quad (9)$$

由此得到 $U(t) = lT(t)$, 其中 l 为一个任意常数. 由 (9) 和 $s_{xx} = 0$, 我们可以得到

$$s(t, x) = kx - (k^3l + kB) \int T(t) dt, \quad (10)$$

其中 k 为一个非零常数. 容易证明 $F(s) - F(s)^2 = (1/4) \operatorname{sech}^2(s/2)$. 因而, 如果满足条件 $U(t) = lT(t)$, 则方程 (1) 有如下孤立波解

$$u(t, x) = B + 3k^2 \operatorname{sech}^2(-\frac{1}{2}s), \quad (11)$$

其中 s 如 (10) 所示. 文献 [1] 中的结果不包含解 (11).

我们发现, 这种直接方法还可以应用于许多变系数的反应扩散方程的求解.

参考文献

- 1 Zhixiong Chen, Benyu Guo, Xiang Longwan. Complete integrability and analytic solutions of a KdV-type equation, J Math Phys, 1990, 31, 2851~2855.

(第一作者单位: 山东工业大学计算机系)